NCERE =T

THSFE BMBHEETHEHME

A | B [EA| ® i £ ROA| X H[E £
5122 0 |3&fF& ABXH (1EAF) 600, 000 600, 000
7120 0 [3fFE ABXH (2EH) 900, 000 1,500, 000
7125 9 |E=%E sJLy EREER GAS) KREE BEA Al 7,194( 1,492,806
8 23] 9 |=¥KE 57l hEREES 685 [KRF FK B 7,194( 1,485,612
9 | 25| 9 |=H%E sILy rREER A9 KRERE BEX Al 7,194( 1,478,418
1020 ] 0 |3 ft& ABXh GEHAE) 900, 000 2,378,418
10 25] 9 |=#%%E 2T7Ly MEREBEH 6A%) |[ARE BEA IhE 7,194 2,371,224
1112 | 9 |=EHE 8Tl hEREES 08 |[KEREB FKR hE 7,194 2,364,030
12122 9 |=%%E 87Uy MEKBES (1089 |[KRE FEXR 5hE 7,194 2,356, 836
1| 4] 6 |LHRE T BUER & EN R HKEKEF BEX shiE 186, 120 2,170, 716
1] 49 |E=%E oA F 3084 KEKE FX BhiE 950( 2,170, 166
1122 0 |XfFE ABXH (4EH) 900, 000 3,070, 166
1 (23] 9 |=%E 87Uy MEkEBES 1189 |[KRE FEXR 5hE 7,194 3,062,972
1139 |=%E HER (12001 |&F = 16, 164| 3,046, 808
2 12| 9 |E=%E 87Uy MEkBES (1289 |[KRE FAR jhE 7,194] 3,039,614
3122 9 [=%E sILy EkEER (1~385) |(KERE BEXR FhE 21,582 3,018,032
3, 300, 000 281,968 3,018,032
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